E=1.50
L

[ TTTE ] E=1.50 : '
/ (Yengok=7 Kat) \ \
§ // /[ Yencok=25.00 m. \
/ / / 7 (Yencok=7 Kat) .

7 Yengok=25.00 m. / \ \
)/ (Yengok=7 Kat) ~_ \ \
77 )

/ /

/ =
/ / 2/ E=1.50 )
// \ Yencok=25.00 m.
7 / g0 }\/ | (Yengok=7 Kat)
. I Y ( () \
1I // N Okﬂﬁ/ L > | -\.\
— o A o N P _ i) s PP TR
3 ‘.uﬁ & . ‘ - | \\/ \ / P rd = N | '.\\"\
, y , _ e AV AR / NN By
5 / \ / % ICK [ Il . | ]
FTFALTS , : : TLL ] [ ‘/ YETiCORSZS0p T &ergc!\— = #W'H:K{ \\
/ = , . WA s = R \
: ) ¢ / ——1_] ~— . ‘ﬁgr\g'\ll—7 Kat
SR » A
/ / ’o%l/ mik- o 7. - : R _ N =
( ( N, | =
2 E=1.50 ;

, ! % ' / / ,
\ Yengok=25.00 m.\. \ / \ 3 %4@/ 4 P
\ (Yengok=7 Kat) \\ /l//’?/ et/ :

\ , E=1.50 \\
Yengok=25.00 m.
(Yengok=7 Kat)

: 0 | ‘

1 @ 7 i iy
(\\ g _ / E=1.50 / 7/ E=1.50
N \ = 1- JG \ . i
- ~ N . / Yengok=25.00 m, Yengok=25.00 m.
N Xgngok=2 (Yengok=7 Kat) 5 (Yengok=7 Kat)
\E ol

Y

y.
/
Il fon
IS
=13 [ A
/

N
N

/1
P
4=

= w1 /
’ b iB.H. 4 A /@ 3
A E=1.50 \ . [iF | ./\/ (///
PN O Yengok=25.00 m./ _ \ !

.\.(Yengok=7 Kat) / \ | \ K //\

\(Yengok=7 Kat) \

'\ \ (Yencok=7 Kl\t'
NE T NN @\ -

Yengok=25.0

AN
AR LN — N ]

>
g
>
>
>
o=
S =
7

(Yengok=7 K

\ E=1.50

\ Yengok=25.00 m.
\ (Yencok=7 Kat)

N

\ (Yengok=7 Kat)
\ E=1.50

\ \ Yencok=25.00



